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QUESTION 1

Based on the Array Utilization Dashboard shown in the exhibit, a frontend port is showing higher utilization on Director
1. How can this situation be corrected?
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A. Add another engine to provide for Frontend Emulation CPUs
B. Redistribute the workload onto other available ports

C. Increase cache on the engine

D. Add additional capacity to support the frontend workload

Correct Answer: B

QUESTION 2

A VDI deployment is planned for an environment that consists of VMAX3 and XtremlO. The data will have a high degree
of deduplication and will require QoS and VVOL support. How can the existing infrastructure be leverage while
minimizing increased storage capacity?

A. Use XtremlO for the new deployment

B. Use FAST.X with XtremlO for the new deployment

C. Add full capacity required for VMAX3

D. Add half the capacity required for the VMAX and use compression

Correct Answer: A

QUESTION 3

A company has two VMAXS arrays located 100 km apart. The arrays are configured with SRDF/S over Fibre Channel.
Which Dell EMC technology will improve FC replication between sites?

A. Fast Write

B. Deduplication
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C. SIRT
D. Write Acceleration

Correct Answer: B

QUESTION 4

What is the effective queue depth of a device mapped to a host with eight paths on a VMAX3 array?
A. 64

B. 128

C. 256

D. 512

Correct Answer: C

QUESTION 5

A VMAXS3 storage group is not SLO compliant. No changes to the application I/O profile have occurred.
Which factor may be responsible for the SLO compliance impact?

A. storgnsd daemon was enabled

B. Host queue depth setting was changed

C. Increase write activity from the application

D. Increased activity from other storage groups sharing the same ports/directions

Correct Answer: D
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